
NVE Fabricated Mini Product Catalog | Rev. 9/24/19    Weights & Measurements are for reference only.    Prices subject to change at any time.     25  24                      Genuine National Vacuum Equipment Products  |  Proudly Distributed By Armstrong Equipment Inc.       800-699-7557

Float Level Indicators | ASME Code & Non Code

PART NUMBER DESCRIPTION WEIGHT

400-320-8CW FLOAT LEVEL INDICATOR 8” CARBON - WELD - ASME 
CODE

15 lbs

400-320-8AW FLOAT LEVEL INDICATOR 8” ALU - WELD - ASME CODE 14 lbs

400-320-8SW FLOAT LEVEL INDICATOR 8” SS - WELD - ASME CODE 15 lbs

PART NUMBER DESCRIPTION WEIGHT

400-319-8CT FLOAT LEVEL INDICATOR 8” CARBON - THREADED - 
NON CODE

14 lbs

400-319-8CW FLOAT LEVEL INDICATOR 8” CARBON - WELD - NON 
CODE

15 lbs

400-319-8AW FLOAT LEVEL INDICATOR 8” ALU - WELD - NON CODE 14 lbs

400-319-8SW FLOAT LEVEL INDICATOR 8” SS- WELD - NON CODE 15 lbs

Weld In  & Thread In Float Level Indicators 

Weld In Float Level Indicators - ASME Code 

FEATURES:
•	High quality components and design keeps the product in the tank 

where it belongs, not leaking out the sides of your indicator.
•	Available in carbon, alumium and stainless steel weldable bases or 

avaiable with a carbon thread in base. 
•	External indicator arrow.

WARNING: The Float level indicator with the carbon 
steel, stainless steel and/or aluminum weld sleeve must 
be disassembled before installation.  Failure to do so will 
cause heat damage to the internal components of the 
float level indicator.

The float level Indicator should be installed in the center 
line of the tank.  

 

 

302
301

14

4

4

305

306

303

3

13

12

7

11

2

16

15

17

10

8

5

304

9

1
6

59 7/16"

51 3/8"

5"

 

 

302

14

301

4
4

305 306 303

3

13

12

11

7

2

10

8

5

304
1

6

9

60 9/16"

51 3/8"

5"



NVE Fabricated Mini Product Catalog | Rev. 9/24/19    Weights & Measurements are for reference only.    Prices subject to change at any time.     25  

Float Level Indicators | ASME Code & 
Non Code

ITEM PART NUMBER DESCRIPTION WEIGHT

400-319-0 REPAIR KIT - FLOAT LEVEL INDICATOR 0.3 lbs

1 400-002-319 FLOAT ARM ARROW SS 0.45 lbs

2 400-006-319-CT FLOAT LEVEL HOLDER - CARBON - 
THREADED

3 lbs

2 400-006-319-CW FLOAT LEVEL HOLDER - CARBON - 
WELDED- NON CODE

3 lbs

2 400-006-319-AW FLOAT LEVEL HOLDER - ALU - WELDED 
- NON CODE

2 lbs

2 400-006-319-SW FLOAT LEVEL HOLDER - STAINLESS - 
WELDED - NON CODE

3 lbs

2 400-006-320-SW FLOAT LEVEL HOLDER-STAINLESS-
WELDED ASME CODE

3 lbs

2 400-006-320-CW FLOAT LEVEL HOLDER-CARBON-
WELDED ASME CODE

3 lbs

2 400-006-320-AW FLOAT LEVEL HOLDER-ALU-WELDED 
ASME CODE

2 lbs

3 400-011-319 FLOAT LEVEL INDICATOR 8” SS WELD 
TELESCOPIC

6 lbs

4 400-014-319-8B FLOAT BALL GUARD 8" BOLT ON 1 lbs

5 400-016-319 WASHER 5/8 STEPPED SS 0.01 lbs

6 400-020-319 LUBRICATING NIPPLES - ANGLE 
HYDRAULIC NIPPLES TYPE A

0.01 lbs

7 400-022-319 SEAL 0.750" ROD U-CUP VITON 0.01 lbs

8 400-024-319 SNAP RING INTERNAL 1.378" BORE 0.01 lbs

9 400-026-319 SNAP RING EXTERNAL 0.500" SHAFT 0.01 lbs

10 400-028-319 BEARING 6003 2RS 35MM X 17MM 
X 10

0 lbs

11 400-030-319 BEARING .75"ID X 1.0" OD X 1.0" 0.05 lbs

12 400-040-319 O-RING 2-210 VITON 75 DURO 0.01 lbs

13 400-042-319 BACKUP RING 8-210 SPIN PTFE 0.01 lbs

14 414-800-TT FLOAT BALL 8" SS THRU TUBE 5/8" ID 
3/4 OD FOR 1/2" ROD

2 lbs

15 400-008-319 FLOAT LEVEL WASHER 3.75" SS 0.3 lbs

16 400-018-319 GASKET THD`D INSERT VITON 0.15 lbs

17 400-038-319 NUT JAM 2" - 12UN PLAIN 1 lbs

301 FW - 1/2 SS FLAT WASHER - 1/2" SS

302 HEX NUT - 1/2 UNC 
SS

HEX NUT - 1/2 UNC SS

303 HEX NUT - 3/8 UNC 
SS

HEX NUT - 3/8 UNC SS

304 HEX NUT - 5/8 UNC 
- SS

HEX NUT - 5/8 UNC - SS

305 HHCS - 3/8-16 UNC X 
1.25 SS

HEX HEAD CAP SCREW - 3/8-16 UNC 
X 1.25" SS

306 LW - 3/8 SS LOCK WASHER, 3/8" SS

Float Level Indicators | Replacement Parts List

 

 

302
301

14

4

4

305

306

303

3

13

12

7

11

2

16

15

17

10

8

5

304

9

1
6

59 7/16"

51 3/8"

5"

 

 

302

14

301

4
4

305 306 303

3

13

12

11

7

2

10

8

5

304
1

6

9

60 9/16"

51 3/8"

5"


